MULTIPLICATION: DECIMAL NUMBERS (H - SET 3)

TWO DECIMAL PLACES Hame
Time: Score: y—
2 (0.01 x 0.08 = 1365 x 0.4 =
1220 0.05 X 5 = 13710 x 0.02 =
123 9 x (0.7 = 139 1 X 8=
20 0.07 x 0.4 = 1390.04 X9 =
125 3 x 0.9 = 1) 9 X 8 =
1260 1 x (0.7 = 1) 0.03 x 0.2 =
177 ] x () = 142) 6 X 0 =
125) 2 x () = 143)0.02 x 0.07 =
129 0.05 x 0.2 = w1 x 9=
1300 0.8 x () = 145) 0.08 x 0.2 =
13 0.09 x 0= 16 2 X 8 =
132) 7% 0.2 = 1 3 x 0=
133 0.1 x 0.4 = 1) (0.3 X 0.6 =
139 1 x 0.6 = 149 0.3 X 0=
135 0.01 x 0 = 150) 0.4 x 0.1 =
Mathematics: Multiplication - Level 6 - Horizontal - Set 3 6 uluy
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